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04 SIZ2ISHAAIH E & 855,000 950,000 A 95,000
O 0 HEsHE =A 855,000,000 = 13| 855,000
AF A RS XS 8 AL 70,000 70,000 0
307 QI2t0| ™ 70,000 70,000 0
04 CIZ2tSHALALS B = 70,000 70,000 0
O A Nl MHE A
70,000,000& * 13l 70,000
HEL HE 29 HICH HE A 40,000 42,000 A 2,000
307 2iz2to| A 40,000 42,000 A 2,000
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PSRN =X XN (222 /250 =)
S IS X, AHHE SHEAZS (&)
SA - BB B () - MM - BES Ol &t o San HmEET
04 DI2HHALALSE E X 40,000 42,000 A 2,000
O N2& ¥E SLUICH ME & A
40,000,000& * 13l 40,000
g d= I eog 60,000 66,000 A 6,000
307 glz2tol & 60,000 66,000 A 6,000
04 DIZHHALALSE E X 60,000 66,000 A 6,000
O sg 2% JId B0IY
60,000,000& = 13l 60,000
=4 LUE ME A 45,000 50,000 25,000
307 21201 A 45,000 50,000 A5,000
04 DIZHHALALSE E X 45,000 50,000 A5,000
O =24 2= MEHA 45,000,000& * 13l 45,000
OI Xt 2 == M E & A 60,000 66,000 26,000
307 glz2tol & 60,000 66,000 A 6,000
04 DIZHHALALSE E X 60,000 66,000 A 6,000
O GXet AHEL=S MSHA
60,000,000& = 13l 60,000
=2t SZF A 400,000 400,000 0
307 gl2tol & 400,000 400,000 0
04 DIZHHALALSE E X 400,000 400,000 0
O ==&t 2Z=H  400,000,000& = 14 400,000
dEel2stetorg 55,000 60,000 A5,000
307 glz2tol & 55,000 60,000 A5,000
04 DI2HHALAISE E X 55,000 60,000 A5,000
O dY@Jel2stetote 55,000,000& * 14l 55,000
o= s 2= 300,000 300,000 0
307 glz2t0l & 300,000 300,000 0
04 QIZFHALAIH B = 300,000 300,000 0
O == s ==X 300,000,000& * 14 300,000
HY2I A (22)(J1EHIIE 209,219 205,569 3,650
A29H 84,736 81,086 3,650
ol 2| 84,736 81,086 3,650
101 124 dl 84,736 81,086 3,650
01 2= 11,753 11,926 A173
O BPEZHUH 522247 1,753
© 6= 96,4773 * 19H » 64 6,175
o 7= 87,1493 * 18 » 64 5,578
03 RIHAZZ N E =+ 72,983 69, 160 3,823
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